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Weight — 2
1. How many 250 g salt packets are needed to make 10 kg salt?
a) 4 b) 10
c) 20 d) 40

2. Cost of 5 kg apples is Rs. 640. What is the cost of 500 g apple?

a) Rs. 100 b) Rs. 46

c) Rs. 64 d) None of these
3. John had 52 kg 750 g of rice. He used 28 kg 900 g of rice. How much rice is left with him?
a) 23 kg580¢g b) 23kg850¢g

c) 22kg850¢g d) None of these
4.5 kg onion cost Rs. 125. What is the cost of 900 g onion?

a) Rs. 22 b) Rs. 23

c) Rs. 22.50 d) None of these
5. Convert 37 kg 7 g to grams.

a) 37700 g b) 37070¢g

c) 37007 g d) None of these

6. A shopkeeper bought 45 kg 750 g sugar and he made small packets of 250 g each from it. Find the
number of packets he made from the whole quantity?

a) 180 b) 183

c) 173 d) None of these
7. 3% kg = grams

a) 1250 b) 1350

c) 1550 d) 3750

8. Bob bought 42 kg 750 g potatoes, 62 kg tomatoes and 52 kg 230 g brinjal. How much total weight of
vegetables did he buy?

a) 110kg980 g b) 156 kg 980 g
c) 120 kg 890 g d) 120kg98 g

9. 2 kg mango cost Rs. 180. If 2 kg mangoes cost is equal to 6 kg oranges, then what is the price of 5 kg
mangoes and 10 kg oranges?
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a) Rs. 450 b) Rs. 300

c) Rs. 750 d) None of these

10. Bob’s weight is 72 kg and his brother’s weight is 1 % kg. What is the total weight of both the
brothers?

a) 190 kg b) 192 kg

c) 182 kg d) None of these

11. Weight of one suitcase is 12 kg 680 g and weight of one backpack is 2 kg 210 g. What is the total
weight of 5 similar suitcases and 6 similar backpacks?

a) 76 kg 660 g b) 66 kg 660 g

c) 66 kg 606 g d) 56 kg 660 g

12. Cost of 250 g turmeric powder is Rs. 32. What will be the cost of 12kg turmeric powder?
a) Rs. 600 b) Rs. 700

c) Rs. 800 d) Rs. 1536

13. The weight of one rice packet is 5 kg 125 g. Find the weight of 25 such rice packets.

a) 186 kg 520 g b) 128 kg 250 g

c) 128 kg 125 g d) 78 kg 250 g

14. During a flood, the state government distributed 3600 kg rice among 60 villagers equally. How much
rice each villager will get?
a) 40 kg 500 g b) 40kg 250¢g

c) 40kg750¢g d) 60 kg

15. Weight of OOOOOOOOOO =250¢g

Weight of OOOO + Weight of ﬁ =450¢g
What is the weight of @ ?

a) 450 g b) 250 g

c) 150 g d) 350 g
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